
PI396/1011jj

 SDI Off Center Boom
Model OC-SBOOM20



         Item        Part
       Number      Number                 Description                      Qty

SDI Off Center Boom Model OC-SBOOM20

Spraying Devices, Inc., P O Box 3107 Visalia CA 93278 Tel: 559-SDI-5555/Fax: 559-SDI-5591               10/07/11jj

1 64-433-75 Triple Nozzle Body 1
2 64-431-75 Single Nozzle Body 2
3 21-930 Hose 3/4" ID 200 PSI, Per Foot Specify
4 24-112SS Hose Clamp #12 SS 4
5 64-440 Vari Spacing Clamp 3/4" Pipe 3
6 64-414 Diaphragm 3
7 64-415 Check Valve 10 PSI 3
8 64-403 Strainer Screen Nylon 3
9 64-404 Rubber Washer 3
10 64-613 Tip FL-6.5VS 3
11 64-420 Cap TK/FL/TX/TG/Hose 3
12 11-212-40 Upright 40" 2
13 41-106 Channel Nut 3/8" 6
14 11-459 Mount/OC Boom Nozzle 2
15 64-445 Diaphragm Check Valve 3/4" 2
16 52-112 Elbow Adapter 3/4 MPT x 3/4" HB Poly 2
17 64-770 Boom Jet Nozzle Brass 2
18 11-213-64 Cross Member 64" 1
19 11-216 Center Section U-Bolt Bracket 2
20 24-441 Clamp 1" Pipe to Angle 2
21 41-110 Channel Nut 1/2" 4
22 42-503 Flat Washer 3/8" SS 2
23 32-102SS Hex Bolt 3/8 NC x 3/4" SS 6
24 42-104 Flat Washer 1/2" 4
25 43-104 Lock Washer 1/2" 8
26 41-104 Hex Nut 1/2" 12
27 11-768 Boom Mount - Boom to Truck 2
28 34-104 Hex Bolt 1/2 x 1-1/4" 12
29 51-991 Pipe 3/4" 44" Long 1
30 70-357 Serial and Model Number Decal 1


